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Grade 11 General—Term 1 Exam —2022-2023

The figure shows the path of Mars around the Joa foall @S oS Jluwa JSA) jeday
Sun, in which position does Mars have the 358 AL Laa i ga 7] ;@ comadd)
greatest linear velocity? T ‘E’Z.E: &;,.. J-\Si C"‘» el

_____________________________________________________________

: 1
b.
2
i 7
d.
4
A blender blade spins from rest to o Qosad) goa (Al gS BIA S Al g5
9000rev/min in 4.5s. What is the JA (9000rev/min) A Juaii )
angular acceleration in rad/s%’ ¢ rad/s? saa gy ¢ g3l & bl La (4.55)
ali 209rad/s2
b.
12.6rad/s2
' 2000rad/s2
d.
756rad/s2

Jlso (b i (8.4kg) LiliS & )e

A cart of mass (8.4kg) is moving in 5 305 (2.0m) aykd Laa 5yl

a circular path of radius (2.0m), a o .(2N) by)lais & 3Sy0 Bg5 dyall
centripetal force of (42N) is applied g d_,_-:'ﬂ' il tslo] a.C-J-u.IJl
to the cart. What is the tangential i T Syl

velocity of the cart?




A satellite revolves in a circular path around the Jsa il s b olia e oy
Earth. Which of the following could be a reason for the b 095 O (S ul‘ Laa 'é’" U“JP’:‘
decrease in the radius of the satellite's path if the A Flalljatl s ik i
magnitude of the force of attraction between the Earth S5 Y G crlad) 3 810 £l Ja

and the satellite remains constant? L o lall
An increase
d.| A decrease in the satellite mass
‘Which point on the object moves in the AT L5 aeal) o 36 gl ALt L
same way that a point particle would g, ! &) arial) 43 "o ) A slay)
move? L ¢

< A5
N s ol S8 BT 2] G (B4 9 (A)osf 685 3 8 il s 1.3mdhdi ge
djg My guly ul iz oliVl 3y e Ay lSl wle o [IHVIS90N o1Vl gaog b q:g.?_,&ll wsud




A spanner is used to loosen a bolt as seen in the A gabia i) JEly Cpaal) AN URa 203000
figure. What is the torque exerted on the bolt ? 4 gabiall o ahaall ajall jlaba L

44.8N. m

Given that there is no air resistance, JSib Lo welggll doglio Jlanly
what trajectory will the arrow take ade yziuw Sl jluall
after being shot from the bow for el e a8l dsy pguall
long distance? Sl gb @Lutel

Circular path
G AN Jea

Parabolic path

Suppose a Ferris wheel in Dubai 51560 N 93 duad 33 5 1aa o a8
has a frequency of (0.1Hz). What MBa Lad ¢ (0.1Hz) 2 Adsta B
is the angular velocity of the Y gall A31 30 de el
Ferris wheel in rad/s? Y rad/s da g

10




A Ferris wheel as shown in the figure completes one revolution each 8s. What is the angular velocity of
the Ferris wheel in rad/s?

S5 JS ALALS 35 00 JEL Al 0 gl Y 92 Al Jai
glds pudl Gidia gh Lo pad/fsdis g gl €

A satellite orbit around a planet at a " « .3
Wy e o L
height of (4.2x10"m) from the planet's =) =58 dsa ol 2 s

€ 4138 s 7
center and completes one revolution in a datys oS53 0 04 (4.2x107m)

4 At B Al o3
time of (8.7x10%s). What is the mass of - (BTX107S) 258 0 (2 22305 554

9 o<1 AL Lad
the planet? i

The diagram shows two balls with different masses one Cn de sias Lanlaa] AMSN (B o808 008 S JS3N ety
made of iron and the other made of rubber fall freely from Ol e T U s e Bilaal) 0 (5 AY1 g )

same height above Earth. Which of the following is true? Siaaa AN G el Cra g Lo ) gl (358 LY




During a football match Sultan kicked the
ball in the air with an initial velocity of
12m/s at an angle of 40° above the horizontal.
If the ball travels a horizontal distance of
15m, how long will it fly in the air?

£l (B 3 Sl Gl IS a5 8 5) e o

3l cndaf 1) Y (58 40° D) 12m/s A Ao e
o) 54 (8 Lgidas ¢ya 5 La ¢(15m) L ke A58 Lo

1.6s

‘Which of the following is correct related to
the horizontal velocity of a projectile during
its motion?

Its magnitude changes

)

Both its magnitude

ie ol e Al Efi
e L) Ld g X8 a1t 4 83Y)
408 A

es not change

and direction do not change
O Y Leals i

].AJLJM

Two objects each with mass m at a distance r from each

other. The gravitational force between them is F. If the

masses of the objects are increased to be 3r, what will be

the gravitational force between the objects?

L2

Q.

@

lom Lagia J6 A58 ooy
) Lagudars (s Al
G 13 F 5 gk gluilaty
oS ¢ 31 gl Lagly Ailual)
flaghu lall 368 b muay




=

4 A uniform sphere with mass ‘-Mil-‘ M"eﬂu s 9.8 p
of radius (2.0m) . Its moment of ale Jlaia IS 1A (2.0m) &yl
inertia with respect to rotation Jea Adljga el Ad LI guall)
about its axis is 32 kg.m?? What is JEaLa (32kg.m2) 545
its mass? e4alig

o
a : | |
i 20kg
|
3.2kg

1 c

5 The figure shows Mohammad and his sister o A3l ""n_" J;9'+‘"“ Jead Jﬁ'h*

Laila playing on a seesaw, which of the Laa ) ‘U‘;)"Y" hﬁ?J' u-““ Oaly

following can lead to the balance of the G M 2 O S

seesaw? f4a g NI

T y i Laila moves closer to Mohammad w )y
) ._i““”‘w‘“’“ o

Mohammad and Laila: '_Iill? away from each other the same distance

'g nﬂ gmed (e (paalita Heite ‘_AH.L e J.‘:\




Two vehicles are traveling on the same A Jlacall (B LS o s

circular path and the linear velocity of the ‘L‘_SJ*” “‘-.‘55‘-“ de yud) g 4313
first vehicle is twice the linear velocity of the 40yl (Ma g gl gV

second vehicle. Which of the following
statements is correct?

Cl'l)l.t\ﬂ'l ‘é'l _:L_ﬁl:ﬂi :i,tSJAn :L}hﬁ'l
fhaaia Al

The two vehicles have the same centripetal acceleration

The centripetal acceleration of the first vehicle is equal to half the centripetal acceleration of the second vehicle

AN A M 558 pall e jlall et g b I NIAS pull o € i e Ll

The centripetal acceleration of the first vehicle is twice the centripetal acceleration of the second vehicle

45l A€l o S e (s g AN A8l 2 S pall & Ll

The centripetal acceleration of the first vehicle is four times the centripetal acceleration of the second vehicle

Ll A8, ¢ 8 5l el Jed 5 s sl Sl 2yl gLl

The figure shown an airplane flies due east

at 400km/h relative to the ground. There is a 18 ol 3 i JEl) gl
wind blowing at 90km/h to the west relative to Tl oy .oa) ) il 400km/h s
the ground. What is the plane's velocity relative o) Al Q0km/h A e A1 sladl B

to the air?

) ) (N Aadlly 3 AN Ao s L oY)

400km/h




What is the speed of car B relative 4B 3 bl 42 s it L

to car A and car C, respectively? S A e C 5 A O el

(195/,1_ =60 Km/h),(ﬁs,fc = GOKm/h)

(g4 = 130 Km/h), ( 95/c = 20 Km/h)

(Pgsa = 70 Km/h), (9g,c = 80 Km/h)

{ iady g a3t e el Laa B Joln) e
The figure shows a rotating disk ad two spots on it A and B. o2 Al 1= (B) 5 (A) Oy g g2 s L8 L 2 IS i

(A)is at (X) cm from the disk's center and (B) is at (Y) cm = (B) 3 coa Al 3 5m g (X) om ABls e (A) <81
from the disk's center. How can the angular velocities of the Ao ) A5 e ey B ¢ g A K e e (Y)em Al

two spots be compared?

TRl g 31

a planet has a mass of 9.1x10*kg and its radius is _oukb sl 9.1x1020kg Aili€ o€ g
1.8x10"m. What is the gravitational field strength o dnilall Jlaa Sadi ke Lk (1.8x107m)
on the planet's surface? s o<l




The figure shows a force F exerted on a Aol s SEF 58 G LA

door in six positions. In which of these odal pall (o} B ARLAL aual ga A2
positions the torque exerted on the door gt Gl e fgall el 458
equals zero? £ Al

I




> | Two moons Ml,.Mz.with Efliffert.}nt (QJUANE s Lap NS VT, « My () oo
masses are moving in their orbits S o<l aaf Joa Lagaslda L& ol g

around a planet, as shown in the b Las o Jall Cua ga LS
figure. Which of the following is s palll Al a3l Al s
true for their periods in their Slags M b
orbits? i

 a smaller @aﬁf@xﬂ than M;

b.| M, has a greater period than M,

2 During a football match Sultan kicked the co e
3 ballin the air with an initial velocity of ) P (B R Gl JS) 8 58 8 e £
12m/s at an angle of 40° above the horizontal. 54 “:‘H 1)) 40° 29052 12m/s SE) 52
If the ball travels a horizontal distance of Yol o) (o Wilat (L <(15m) Lo e 208) Aluss
15m, how long will it fly in the air?
a.
2 An object attached t tring is whirled i ircl
n object attached to a string is whirled in a circle as e s weate Bk G e b’
4 shown in the diagram. The magnitude of linear St e £ ot e +
. . . N ) Jeddl e s sh Las g e
velocity O.f the object is 11‘m/s and t?e centripetal Alsally 11/ aal Aail Gyl )i S
.accelera.tlon of the object is 150 m/s*. What S e La  150my/s? aall &y 3640
is magnitude of x?
X

|~ —




According to Kepler’s third law, which of Lﬂ_‘ﬁfﬁu 4 35‘333" Lﬂ;}‘f”
the following represents the mathematical o \ ."f. <
relationship between periods of planets and J.ﬁsfj‘ﬁi ;jrﬁz

ouaddl Gy g Ady 2oy .

their mean distances away from the Sun?

One car is following another car in il ‘5.}:?'" 8Lty if-‘.l_le'.-‘-‘-' Gfd-T
the same direction at the same speed '-"__'V doyull yuaing oLl
v, what is the speed of one car with o) beadl 522 dc g lade

respect to the other? )W daddl




Ov




